














Guard   Guard    
Part # Clasp Clip Part # Clasp Clip 

H‐61954 C‐2 H‐3 H‐113571 C H‐3 
H‐75386 C H‐3 H‐145791 C H‐3 

H153855 or H25603 C H‐3 H‐153719 C‐2 H‐3 
Other C H  

 
JOHN DEERE Draper Headers, 600‐ and 900‐series RIGID DRAPERS and 600‐series Rigid Auger, guards on 4" spacing  
 

Guard  
Part # Clasp Clip Part # Clasp Clip                                   Grain Saver Boot 

                                     On EVERY Tyne H‐213405 JDF‐010 ABM‐D‐1J H‐229539 JDF‐010 ABM‐D‐1J 
H213508 JDF‐010 ABM‐D‐1J                                                                                                                              RECOMMENDED 

 
JOHN DEERE  Flex Headers, 600‐ and 900‐series FLEX, BOLT‐ON guard system, guards on 4" spacing  
 

Guard 
Part # 

 
H213398 Guard with (2) LONG points and (1) SHORT point  
H205992 Guard with (2) LONG points and (1) SHORT point 
H205448 Guard with (2) LONG points and (1) SHORT point 
H229537 Heat‐treated Guard with (2) LONG points and (1) SHORT point  
H213507 Guard with (1) LONG point and (2) SHORT points  

AH213055 Guard with (1) LONG point and (2) SHORT points 
H229538 Heat‐treated guard with (1) LONG point and (2) SHORT points  

www.abm‐mfg.com   800‐798‐1968 

 

EERE 200‐ and 900‐series headers with 3" guard point spacing           Optional   

 Cut size # of FG‐087 # of FG‐077 # of # of Wt. Grain Saver Boots   
Set # (Width ft) 8‐points 7‐points Clips Clasps Lbs. Quantity Required   

 

    

 Cut size # of ABM‐D‐6 # of # of Wt. Optional Grain Saver Boots 
 

 
Set # (Width ft) 6‐points Clips Clasps Lbs. Quantity Required  

 

            Optional 

 Cut size  # of ABM‐D‐3F      New Bolts One of ea Deere Wt.  Grain Saver Boots 
Set # (Width ft)  3‐points  Required LH & RH finger Bolt # Lbs.  Quantity Required 

 

 
JOHN D 

 
 

FG‐537 14 4 3 14 14 40 26 
FG‐577 15 1 7 16 16 43 28 
FG‐617 16 5 3 16 16 46 30 
FG‐697 18 6 3 18 18 51 34 
FG‐737 19 3 7 20 20 54 36 
FG‐777 20 7 3 20 20 58 38 
FG‐857 22 8 3 22 22 63 42 
FG‐937 24 9 3 22 22 68 46 
FG‐997 25 8 5 26 26 75 49 

FG‐1177 30 5 11 32 32 86 58 
     ↑ 

One ABM‐2005 
Grain Saver Boot  
On every OTHER Tyne  
        OPTIONAL 

 

 
 
 
 
 
 

FG‐925D 25 12 SEE NOTE 24 24 53 72 
FG‐930D 30 15  30 30 66 90 

FG‐635/R/D 35 17 SEE NOTE 34 34 73 102 
FG‐936D 36 18  36 36 79 108 

NOTE:  25' and 35' drapers use 12ea or 17ea  6‐point milo guards and leave 6" of each end of header without milo guards              ↑ 
                                                One ABM‐2005 

 

 
 
 
 
 
 
 

FG‐060 / 620F 20 19 40 2 03M7196 65 59 
FG‐066 / 622F 22 21 44 2 03M7196 72 65 
FG‐075 / 625F 25 24 48 2 03M7196 82 74 

FG‐090F / 630F 30 29 58 2 03M7196 99 89 
FG‐105F / 635F 35 34 70 2 03M7196 116 104 

FG‐640FD 40 39 80 2 03M7196 133 119 
This is a  bolt‐on 3‐point system, purchase bolts from Shield or your dealer, Shield ABM‐3M7196 ↑ 
NEW FOR 2016, Kits will include 1ea Left hand Single finger ABM‐D‐3FL                                                                                              One ABM‐2005 

and 1ea Right hand Single finger ABM‐D‐3FR                                                                                   Grain Saver Boot                 
NOTE:  The most popular headers are 625F, 630F and 635F                                                                              On EVERY Tyne                         
Guard Description                                                                                                                                                              OPTIONAL 



Guard   Guard See NOTE:  
Part # Clasp Clip Part # Clasp Clip 

633089 C‐2 H‐2 118344 C‐2 or C H‐4 
633240R1 C‐2 H‐3 87702973 C‐2 or C H‐4 
1307299 C‐2 H‐4 118301 C‐2 or C H‐4 
OTHER C H 87442324 C‐2 or C H‐4 

 

Guard   Guard See NOTE:   
Part # Clasp Clip Part # Clasp Clip 
65327 C‐2 H‐3 118344 C‐2 or C H‐4 

695501 C‐2 H‐4 87702973 C‐2 or C H‐4 
8652187 C‐2 H‐4 118301 C‐2 or C H‐4 
858778 C‐2 H‐4 87442324 C‐2 or C H‐4 
134024 C H‐3 86615982 C‐2 H‐4 
219191 C‐2 H‐4 Use C‐2 Clasp for 7/16" or 12mm bolt 

Use C‐Clasp for 3/8" or 8mm bolt 8653340DS C‐2 H‐4 
OTHER C H 

www.abm‐mfg.com   800‐798‐1968 

 

H / INT. HARVESTER, guards on 3" spacing             Optional 

 Cut size # of FG‐087 # of FG‐077 # of # of Wt.  Grain Saver Boots 
Set # (Width ft) 8‐points 7‐points Clips Clasps Lbs.  Quantity Required 

 

 
CASE I 

 
 

FG‐717 18 8 1 18 18 53 35 
FG‐797 20 9 1 20 20 58 39 
FG‐877 22 10 1 22 22 68 43 
FG‐937 24 9 3 24 24 68 46 

FG‐1007 25 9 4 26 26 73 50 
FG‐1207 30 15 0 30 30 88 60 
FG‐118D 30 6 10 32 32 88 59 
FG‐1407 35 0 20 40 40 103 70 

FG‐1407 ** 36 0 20 40 40 103 70 
FG‐136FD 36 17 0 34 34 103 68 
FG‐170FD 40 16 6 44 44 114 85 
FG‐186FD 45 18 6 48 48 128 93 

**  Alternate for RIGID Draper, leaving one guard point exposed                                                                  ↑ 
FD headers are Flex‐drapers made by MacDon for CNH and New Holland                                                                                            One ABM‐2005 
40' and 45' Flex‐drapers use 6ea 7 point Milo‐guards in center of header                                                                                            Grain Saver Boot 
For All Flex‐drapers, cover center of header first, then work out from the main flex joints to cover outboard guards            On every OTHER Tyne 

                                                                                                                                                                                                               OPTIONAL 
 

Call ABM and we will walk you through what you need 
for new‐style draper and flex‐draper platforms !! 

800‐798‐1968 
 

Use C‐2 Clasp for 7/16" or 12mm bolt  Use C‐Clasp for 3/8" or 8mm bolt 
 

NEW HOLLAND / FORD, guards on 3" spacing                                                                                                                                                 Optional   
Cut size  # of FG‐087  # of FG‐077  # of  # of  Wt.  Grain Saver Boots   

Set #  (Width ft)  8‐points  7‐points  Clips  Clasps  Lbs.  Quantity Required   
FG‐697 18 6 3 18 18 51 34 
FG‐797 20 9 1 20 20 58 39 
FG‐877 22 10 1 22 22 68 43 
FG‐937 24 9 3 24 24 79 46 
FG‐977 25 6 7 26 26 69 48 

FG‐1167 30 11 4 30 30 85 58 
FG‐118D 30 6 10 32 32 88 59 
FG‐1407 35 0 20 40 40 103 70 

FG‐1407 ** 36 0 20 40 40 103 70 
FG‐136FD 36 17 0 34 34 103 68 
FG‐170FD 40 16 6 44 44 114 85 
FG‐186FD 45 18 6 48 48 128 93 

**  Alternate for RIGID Draper, leaving one guard point exposed                                                                  ↑ 
FD headers are Flex‐drapers made by MacDon for CNH and New Holland                                                                                             One ABM‐2005 
40' and 45' Flex‐drapers use 6ea 7 point Milo‐guards in center of header                                                                                              Grain Saver Boot 
For All Flex‐drapers, cover center of header first, then work out from the main flex joints to cover outboard guards              On every OTHER Tyne 

                                                                                                                                                                                                              OPTIONAL 
 
 

Call ABM and we will walk you through what you need 
for new‐style draper and flex‐draper platforms !! 

800‐798‐1968 



MASSEY FERGUSON/MASSEY HARRIS, guards on 3" centers 
 

           Optional     

 Cut size # of FG‐087 # of FG‐077 # of # of Wt.  Grain Saver Boots     
 Set # (Width ft) 8‐points 7‐points Clips Clasps Lbs.  Quantity Required 

 

 Optional     

 Cut size # of FG‐087 # of FG‐077 # of # of Wt.  Grain Saver Boots      
Set # (Width ft) 8‐points 7‐points Clips Clasps Lbs.  Quantity Required   

 

 Optional     

 Cut size # of FG‐087 # of FG‐077 # of # of Wt.  Grain Saver Boots      
Set # (Width ft) 8‐points 7‐points Clips Clasps Lbs.  Quantity Required   

 

 
 
 
 

FG‐507 13 1 6 14 14 38 25 
FG‐547 14 5 2 14 14 41 27 
FG‐587 15 2 6 16 16 44 29 
FG‐627 16 6 2 16 16 45 31 
FG‐707 18 7 2 18 18 52 35 
FG‐787 20 8 2 20 20 58 39 
FG‐947 24 10 2 24 24 69 47 

FG‐1167 30 11 4 30 30 86 58 
FG‐1407  35' draper 35 0 20 35 35 103 70 

35' Massey 9250 Draper uses JDF‐10 C‐Clasp and WND‐004 H‐3 Clip, Same as Gleaner Model 9250 
Guard   Guard   
Part # Clasp Clip Part # Clasp Clip 

BC258AC C H‐3 OTHER C H 
BC240AC C H‐3    

GLEANER/DUETZ/ALLIS CHALMERS, guards on 3" spacing 
 
 
 

FG‐667 17 3 6 18 18 49 33 
FG‐707 18 7 2 18 18 52 35 
FG‐747 19 4 6 20 20 55 37 
FG‐787 20 8 2 20 20 58 39 
FG‐867 22 9 2 22 22 63 43 
FG‐907 23 6 6 24 24 66 45 
FG‐947 24 10 2 24 24 69 47 

FG‐1127 27 0 16 32 32 81 56 
FG‐1207 30 15 0 30 30 88 60 

FG‐1407  35' draper 35 0 20 35 35 103 70 
35' Gleaner Draper uses JDF‐10 C‐Clasp and WND‐004 H‐3 Clip, Gleaner Model 9250  

Guard  Guard   
Part # Clasp Clip Part # Clasp Clip 

71341601 C H‐4 OTHER C H 
1116504 C H‐3    

Challenger/Lexion, guards on 3" spacing 
 
 

FG‐1007 25 9 4 26 26 73 50 
FG‐1207 30 15 0 30 30 88 60 

FG‐1387 / F535 35 5 14 38 38 103 69 
FG‐1607 40 13 8 42 42 118 80 

The Lexion F535 uses 38ea WND‐004 H‐3 Clip and the K11‐001 C‐2 Clasp                                                                                                        ↑ 
To Select Clips and Clasps for Challenger/Lexion/Claas  Combines, please call us with your                                                       One ABM‐2005 
Guard Part Numbers, Guard Bolt Diameters and any special guard configurations                                                                      Grain Saver Boot 

                                                                                                                                                                                                                    On every OTHER Tyne OPTIONAL 
  www.abm‐mfg.com   800‐798‐1968 



Guard   Guard   
Part # Clasp Clip Part # Clasp Clip 
23064 C‐2 H‐4 118344 C‐2 or C H‐4 
26370 C‐2 H‐4 87702973 C‐2 or C H‐4 
OTHER C‐2 H‐4 118301 C‐2 or C H‐4 

 87442324 C‐2 or C H‐4 

 

Guard   Guard    
Part # Clasp Clip Part # Clasp Clip 

9510220 C H‐3 31‐1713400 NO FIT  
FC68‐2 C H OTHER C H 

  
FG‐087 8 POINT SECTION  
FG‐077 7 POINT SECTION  

ABM‐D‐6 6 POINT SECTION  
ABM‐D‐3F 3‐PT Bolt‐on guard  
ABM‐D‐3FL Left finger w/ t yne wire 

tyne wire 
 

ABM‐D‐3FR Right finger w/  
ABM‐3M7196 M10‐1.5 X 50mm carr. bolt  

JDF‐010 C‐CLASP   
K11‐001 C‐2 CLASP   

WND‐002 H‐CLIP   
WND‐004 H‐3 CLIP   
WND‐103 H‐4 CLIP   
WND‐105 H‐5 CLIP   
ABM‐D‐1 DRAPER CLIP   
ABM‐D‐1J JOHN DEERE DRAPER CLIP  
11X‐1308 Z‐CLIP   
11G‐1301 TINE CLIP   
11G‐1401 GUARD POINT CLIP  
11X‐3202 TINE WIRE   
11X‐3202F EXTRA LONG TINE WIRE  
ABM‐2005 GRAIN SAVER BOOT  

FLX HC‐3 HOG RING   

 

MACDON, guards on 3" guards Optional 

 Cut size # of FG‐087 # of FG‐077 # of # of Wt.  Grain Saver Boots 
Set # (Width ft) 8‐points 7‐points Clips Clasps Lbs.  Quantity Required 

 

 
 
 

FG‐1207 30 15 0 30 30 86 60 
FG‐1407 35 0 20 40 40 103 70 
FG‐1447 36 18 0 36 36 102 72 

FG‐136FD 36 17 0 34 34 103 68 
FG‐170FD 40 16 6 44 44 114 85 
FG‐186FD 45 18 6 48 48 128 93 

FD headers are Flex‐drapers also made for CNH and New Holland                                                                                                                     ↑ 
40' and 45' Flex‐drapers use 6ea 7 point Milo‐guards in center of header                                                                                           One ABM‐2005 
For All Flex‐drapers, cover center of header first, then work out from the main flex joints to cover outboard guards            Grain Saver Boot 

                                      On every OTHER Tyne 
OPTIONAL 

 
 
 
 

Use C‐2 Clasp for 7/16" or 12mm bolt  Use C‐Clasp for 3/8" or 8mm bolt 

Call ABM and we will walk you through what you need 
for new‐style draper and flex‐draper platforms !! 

800‐798‐1968 

 
WHITE, guards on 3" centers                                                                                                                                                                               Optional    

Cut size  # of FG‐087  # of FG‐077  # of  # of  Wt.  Grain Saver Boots    
Set #  (Width ft)  8‐points  7‐points  Clips  Clasps  Lbs.  Quantity Required    

FG‐437 11 1 5 12 12 44 21 
FG‐517 13 2 5 14 14 39 25 
FG‐597 15 3 5 16 16 44 29 
FG‐717 18 1 8 18 18 53 32 
FG‐797 20 9 1 20 20 58 39 
FG‐877 22 10 1 22 22 68 43 
FG‐957 24 11 1 24 24 70 47 

                                                                                                                                                                                  ↑ 
                                                                                                                                                                          One ABM‐2005 

                       Grain Saver Boot  
                On every OTHER Tyne  
                             OPTIONAL 

 

PART # ABM Replacement Parts  All of the Set #'s listed above have been proven to work 

 on the brands and header widths shown 
Because Guard Part Numbers and OE‐Guard Suppliers change frequently, 

We recommend that you help your dealer specify a correct set of Milo‐Guards for your machine 
Please have this information when you contact your dealer 
Guard part number or part numbers used on your machine 

Model Number and cutting width 
Main guard point spacing (usually either 3" or 4") 

Guard bolt diameter, usually either 3/8", 7/16" or 10mm diameter 
Brand Name‐‐some headers are "private labeled" for major OE Brands 

We will assist you in the selection of a full set of milo‐guards or replacement 
parts as needed so that you can get back in the field and start saving grain !! 

WARRANTY:  ABM will replace any part it manufactures that proves to be defective 
for a period of one year from the date of purchase.  ABM is not responsible for 

damages cause by improper installation or misuse of its products nor is ABM responsible 
for any consequential damages to combines or headers. 

 
www.abm‐mfg.com 

800‐798‐1968 



Guard JDF‐010 WND‐105 Guard JDF‐010 WND‐105 
Part # C‐Clasp H‐5 Clip Part # C‐Clasp H‐5 Clip 

16538 BLACK C H‐5 16539 RED C H‐5 
16540 GREY C H‐5 Use C‐Clasp for 3/8",  8mm  or 10mm bolt 

 

HB‐230AF‐122 30 10 6 32 32 88 61 
HB‐236AF‐146 36 6 14 40 40 103 73 
HB‐240AF‐162 40 15 6 42 42 119 81 
HB‐245AF‐182 45 14 10 48 48 139 91 
HB‐250AF‐202 50 20 6 52 52 148 101 

 
Guard K11‐001 WND‐105 Guard K11‐001 WND‐105 
Part # C‐2 Clasp H‐5 Clip Part # C‐2 Clasp H‐5 Clip 
87112 C‐2 H‐5 87113 C‐2 H‐5 

Use C‐2 Clasp for 7/16" or 12mm bolt  
 

Part Number KEY:    SCH‐917 =  20' platform using 9ea 8‐points and 1ea 7‐point,    ‐79 = 79 exposed guard points         ↑ 
For retrofitting ABM Milo Guards to any OEM header equipped with Schumacher EasyCut, please COUNT the number of exposed One ABM‐2005 
guard points, use the charts to determine the correct SET # and quantities of 8‐points and 7‐points required to fill out the header Grain Saver Boot 
For all Flex headers, work from the center out, avoiding placment of rigid milo guard bars over the flex joints in the header On every OTHER Tyne 

  
  
 

Schumacher EasyCut does not make headers.   They make a world‐class cutting system retrofittable to most modern combines.   Therefore, ABM recommends that your 
farmer/customer goes back to the original fitup method for Milo Guards.  COUNT the number of exposed guard points.    Charts show options for header 
widths based on the number of exposed guard points.  When cutting Sorghum (Milo), we recommend that Flex headers are "locked out" in the rigid position. 
All OEM Headers equipped with Schumacher EasyCut SCH guard and sickle cutting systems   

Cut size  # of FG‐087  # of FG‐077  # of H‐5 Clips  # of C‐Clasps  Wt.        Grain Saver    
Set #  (Width ft)  8‐points  7‐points  P/N WND‐105  P/N JDF‐010  Lbs.       Boots Required    

SCH‐917‐79 20 9 1 20 20 60 39 
SCH‐657‐83 21 6 5 22 22 64 41 
SCH‐837‐85 22 8 3 22 22 68 42 
SCH‐937‐93 24 9 3 24 24 74 46 

SCH‐947‐100 25 9 4 26 26 78 50 
SCH‐1147‐116 30 11 4 30 30 88 58 
SCH‐5117‐117 30 5 11 32 32 88 58 
SCH‐1507‐120 30 15 0 30 30 88 60 
SCH‐1707‐136 36 17 0 34 34 103 68 
SCH‐0207‐140 36 0 20 40 40 103 70 
SCH‐1667‐170 40 16 6 44 44 119 85 
SCH‐1767‐178 42 17 6 46 46 127 89 
SCH‐1867‐186 45 18 6 48 48 139 93 

 
 
 
 
 

<‐‐ALL EasyCut Guard systems use the SAME ABM Milo Guard setup 
 

For every C‐Clasp installed, replace one 10mm Carriage bolt with a 3/8" or 10mm Hex bolt of the same length, 
install with NUT UP 

 

 
              HoneyBee Grain Belt and 4000‐series headers use complete Schumacher EasyCut SCH guards and sickles, use the 
  

 
Cut size  # of FG‐087  # of FG‐077  # of H‐5 Clips  # of C‐2 Clasps  Wt.   

Set #  (Width ft)  8‐points  7‐points  P/N WND‐105  P/N K11‐001  Lbs.   
       Grain Saver 
    Boots Required 

 
 
 
 

Part Number KEY:    HB‐230AF = HoneyBee 30 foot Air Flex,  ‐122 =  122 exposed guard points ↑ 
For all Flex headers, work from the center out, avoiding placment of rigid milo guard bars over the flex joints in the header One ABM‐2005 

 Grain Saver Boot 

 On every OTHER Tyne 

  
  
For every C‐2 Clasp installed, replace one 7/16" Carriage bolt with a 7/16"  Hex bolt of the same length, install with NUT UP   

 
Schumacher EasyCut  www.abm‐mfg.com  HoneyBee AirFlex 

Header system  800‐798‐1968  Header system 
 

ALWAYS SELL  ALWAYS SELL 
SYSTEMS   SYSTEMS 

WITH ABM‐2005  WITH ABM‐2005 
Grain Saver                                                                                                                                                                                                                                                                                                   Grain Saver 

Boots on every                                                                                                                                                                                                                                                                                            Boots on every 
OTHER point !!                                                                                                                                   1‐Mar‐18                                                                                                                                        OTHER point !! 






